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Q6. __________ is the synonym of "IMPOSTER". 
 

A. Stranger B. Inventor 

C. Pretender D. Newcomer 

 

Q7. __________ is the antonym of "PARADISE". 
 

A. Hell B. Heaven 

C. Bliss D. Wonderland 

 

Q8. Identify the meaning of the idiom in the sentence. 
"When he was in school, everyone used to pull his leg." 

 

A. To joke with someone B. To praise someone 

C. To like someone D. To hit someone 

 

Q9. Sentence given below may contain one or more mistakes. Identify the correct sentence. 
 
"We has to reach at time for the play." 

 

A. We has to reach at time for play. B. We have to reach at time for the play. 

C. We have to reach on time for the play. D. We has to reach on time for the play. 

 

Q10. Complete the sentence by choosing the correct form of the verb given in brackets. 
 
I would have ___________ (fall) down from the window, as I was feeling very dizzy. 

 

A. falling B. fell 

C. fall D. fallen 

 

Q11. The coach of Indian cricketers Sachin Tendulkar and Vinod Kambli and recipient of 
Dronacharya Award (1990) and Padma Shri (2010) award, passed away on 02 Jan 2019. 
Name the personality. 

 

A. Shri Ramakant Achrekar B. Shri Ajit Wadekar 

C. Shri Jagmohan Dalmiya D. Shri Ankit Kesari 
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Q11. .?1,I0 }ि�O �1ो䬂 A}?0 ,O.Jल�1 �1 }?0K. �?@-लI �O  �K? ,-? �K+???0/ +J1}�?1 (1990) �1 +्䵔 ्䵦I (2010) +J1}�?1 AO 
Ao/?}0,, 02 �0?1I 2019 �K }0/0 BK �ए। }0}िm? �? 0?/ -,?�ए। 

 

A. ्䵦I 1/?�??, �च1O�1 B. ्䵦I 
�I, =?!O�1 

C. ्䵦I ��/KA0 !?लम/0? D. ्䵦I 
?��, �O @1I 
 

Q12. ________ established the Indian National Army 'Azad Hind Fauj'. 
 

A. Veer Savarkar B. Subhash Chandra Bose 

C. Muhammed Ali Jinnah D. Bhagat Singh 

Q12. ________ 0O .?1,I0 1?�रI0 AO0? '��?. }B@. ,L�' �ी }-?+0? �ी -I। 
 

A. =I1 @?=1�1 B. @I.?? च?्䵖 -K@ 

C. /KAम⹍/. 
लI ��m0? D. .�, म@?A 
 

Q13. Which is the major component of fresh air in percent? 
 

A. Oxygen B. Nitrogen 

C. Argon D. Carbon dioxide 

Q13. �},?, �ी o}ि AO ,?[I B?? �? �/J�  �� �L0 BP? 
 

A. �]@I�0 B. 0?�्䵏K�0 

C. ���0 D. �?-�0 !?��]@?�! 
 

Q14. Indian dance forms are structured around ________ rasas or emotions. 
 

A. Nine B. Eight 

C. Seven D. Five 

Q14. .?1,I0 0Lm0 z+ ________ 1?A 0? .??0?� @ �O  �A+?A A@1}?, Bै䠂। 
 

A.  
B.  

C.  D.  
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Q15. Rock garden in the capital city of Haryana was built by _______________ 
 

A. Kishan Chand B. Gyan Chand 

C. Nek Chand D. Mool Chand 

Q15. Bर10?+? �ी 1?�/?0I ?B1 /O 1Q� �?रき/0 _______________ ्䵛?1? -0?0? �0? -?। 
 

A. ��>0 च?. B. _?0 च?. 

C. 0O� च?. D. /लू च?. 
 

Q16. __________is the longest serving Chief Minister of Haryana. 
 

A. Shri Bansi Lal B. Shri Bhagwat Dayal Sharma 

C. Chaudhary Devi Lal D. Shri Om Prakash Chautala 

Q16. __________ Bर10?+? �O  A-AO लo-O A/0 ,� 1B0O ??लO /J_0 /@}I Bै䠂। 
 

A. ्䵦I -?@I ल?ल B. ्䵦I .?�=, .0?ल >/?� 

C. चL/1I .O=I ल?ल D. ्䵦I �/��?> चL�?ल? 
 

Q17. Who was the first Advocate General of Haryana? 
 

A. Shri Bhagwat Dayal Sharma B. Shri Jagannath Pahadia 

C. Shri Shankar Laxman D. Shri Anand Swaroop 

Q17. Bर10?+? �O  +BलO एरき?K�O � �01ल �L0 -O? 
 

A. ्䵦I .?�=, .0?ल >/?� B. ्䵦I ��m0?- +A?)?0? 

C. ्䵦I >?�1 लቌ䲚/+ D. ्䵦I �0?. }=z+ 

 

Q18. The International Gita Mahotsav 2018 was held from 07 to 23 Dec 2018 at Kurukshetra. 
Which of the following countries was the partner country ? 

 

A. Mauritius B. Thailand 

C. Bhutan D. Sri Lanka 
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Q18. 
@,1?/�रI0 �I,? /BKmA? 2018 �? �0K�0 �J y�O} /O 07 AO 23 }.A@-1 2018 ,� BI�। }0o0}ल}�, /O AO �L0 A? .O? .?�I.?1 
.O? -? ? 

 

A. /I1I>@ B. -?�लै䠂! 

C. .�ू?0 D. ्䵦I ल?�? 
 

Q19. The Chief justice of Punjab and Haryana High Court is ________. 
 

A. Shri Satyadev Narayan Arya B. Shri Kaptan Singh Solanki 

C. Shri Krishna Murari D. Shri Kanwar Pal Gujjar 

Q19. +@�?- �1 Bर10?+? �चᩍ? न⡍0?0?ल0 �O  /J_0 न⡍0?0?/I? ________ Bै䠂। 
 

A. ्䵦I @त⑍0.O= 0?1?0+ �0� B. ्䵦I �o,?0 म@?A @Kल?�I 

C. ्䵦I �ृ�+ /I1?1I D. ्䵦I �? =1 +?ल �I��1 
 

Q20. As on 1-April-2019, how many among the 10 parliamentary constituencies in Haryana are 
reserved for the Scheduled Classes? 

 

A. 1 B. 2 

C. 3 D. 4 

Q20. 1-
�Pल-2019 ,�, Bर10?+? �O  10 A@A.I0 }0??/?0 �O}ो䬂 /O AO }�,0O 
0JAK}?, ?�ो䬂 �O  }लए �1}�, Bै䠂? 
 

A. 1 B. 2 

C. 3 D. 4 

 

Q21. The proposed National Institute of Ayurveda is coming up at _________. 
 

A. Panchkula B. Kurukshetra 

C. Faridabad D. Jhajjar 

Q21. �0J?O. �? �},?}?, 1?�रI0 A@}-?0 _________ +1 � 1B? BP। 
 

A. +?च�I ल? B. �I y�O्䵔 

C. ,1I.?-?. D. �जᱍ�1 
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Q22. In which city/town the Haryana's first Cyber Police Station is located? 
 

A. Rohtak B. Faridabad 

C. Gurugram D. Panchkula 

Q22. Bर10?+? �? +Bल? A?�-1 +J}लA }�O?0 }�A ?B1 / �}-O /O }}-, BP? 
 

A. 1KA,� B. ,1I.?-?. 

C. �Iy्䵇?/ D. +?च�I ल? 
 

Q23. Pandit Neki Ram published 'Sandesh' in Haryana. Sandesh was a ________. 
 

A. Weekly Magazine B. Monthly Magazine 

C. Yearly Magazine D. Newspaper 

Q23. +@}रき, 0O�ी 1?/ 0O Bर10?+? /O 'A@.O?' ��?}?, }�0?। A@.O? ए� ________ -I। 
 

A. @?o,?9A� +}्䵔�? B. /?म@� +}्䵔�? 

C. =?}?�� +}्䵔�? D. 
�-?1 
 

Q24. __________ became famous for the song "Emptiness" also known as "Tune mere jaana". 
 

A. Sonu Nigam B. Chand verma 

C. Surendra Verma D. Gajendra Verma 

Q24. __________ "एoM�I0OA" �?0O �O  }लए /?BJ1 BK �ए }�AO ",K0O /O1O �?0?" �O  0?/ AO .I �?0? �?,? BP। 
 

A. @K0ू )0�/ B. च??. =/?� 

C. @I1े䜂्䵖 =/?� D. ��े䜂्䵖 =/?� 
 

Q25. Which of these awards is NOT related to literature? 
 

A. Guru Vashisht Award B. Mahrishi Vedvyas Award 

C. Babu Balmukund Award D. Pt Laxmichand Award 
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Q25. �0/O AO �L0 A? +J1}�?1, A?}Bm0 AO A@-@}/, 0Bी䀂 BP? 
 

A. �Iy =म>�  +I1}�?1 B. /A}?� =O.व㕍0?@ +I1}�?1 

C. -?-ू -?ल/I�I? . +I1}�?1 D. +?)!, लቌ䲚/Iच?. +I1}�?1 
 

Q26. Tangri river is the tributary of __________ river of Haryana. 
 

A. Ghaggar B. Sahibi 

C. Indori D. Yamuna 

Q26. �?@�1I 0.I, Bर10?+? �ी __________ 0.I �ी AB?0� 0.I BP। 
 

A.  _�1 B. @?9A-I 

C. �?.L1I D. 0/I0? 
 

Q27. ___________ of Haryana is also a Wildlife Sanctuary. 
 

A. Badkal lake B. Damdama lake 

C. Bhindawas lake D. Karnal lake 

Q27. Bर10?+? �? ___________ ए� ?न⡍0�I? 
m0?1o0 .I BP। 
 

A. -.�ल �Iल B. ././? �Iल 

C. म.?!?=?@ �Iल D. �10?ल �Iल 

 

Q28. Nahar Singh Stadium, a cricket stadium is in ________ city of Haryana. 
 

A. Faridabad B. Rewari 

C. Palwal D. Mahendragarh 

Q28. 0?B1 }A@B }�O}रき0/ 0?/� }ि�O � }�O}रき0/, Bर10?+? �O  ________ ?B1 /O BP। 
 

A. ,1I.?-?. B. 1O=??I 

C. +ल=ल D. /Aे䜂्䵖�? 
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Q29. Birbal Ka Chatta is situated in which district of Haryana? 
 

A. Mahendragarh B. Bhiwani 

C. Sonipat D. Faridabad 

Q29. -I1-ल �? �m?, Bर10?+? �O  }�A }�लO /O }}-, BP? 
 

A. /Aे䜂्䵖�? B. म.=?0I 

C. @K0I+, D. ,1I.?-?. 
 

Q30. Shivalik hills are NOT found in ________ district of Haryana. 
 

A. Ambala B. Panchkula 

C. Sirsa D. Yamunanagar 

Q30. }???}ल� �ी +B?\I, Bर10?+? �O  ________ }�लO /O 0Bी䀂 BP। 
 

A. 
म⹍-?ल? B. +?च�I ल? 

C. म@1@? D. 0/I0?0�1 
 

Q31. State Assembly Elections are conducted by__________. 
 

A. Chief Justice of High Court B. Election Commission of India 

C. State Election Commission D. Governor of the State 

Q31. 1?जᱍ0 }?/?0A.? ?J0?? __________ ्䵛?1? �0K}�, }�ए �?,O Bै䠂। 
 

A. �चᩍच m0?0?ल0 �O  /I_0 m0?0?/I> B. .?1, �O  चI0?= �0K� 

C. 1?जᱍ0 )0=?�च0 �0K� D. 1?जᱍ0 �O  1?जᱍ0+?ल 

 

Q32. The ___________ of the states have similar powers and functions at the state level as that 
of the President of India at Union level. 

 

A. Governor of the state B. Chief Minister of the state 

C. Deputy Chief Minister of the state D. Leader of the opposition party 
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Q32. 1?जᱍ0 },1 +1 1?जᱍ0ो䬂 �O  _____________ �O  ?BI 
}/�?1 �1 �?0/ BK,O Bै䠂 �K �O � },1 +1 .?1, �O  1?�र+}, �O  BK,O Bै䠂। 
 

A. 1?जᱍ0 �O  1?जᱍ0+?ल B. 1?जᱍ0 �O  /I_0/?्䵔I 

C. 1?जᱍ0 �O  �+/I_0/?्䵔I D. }=+�I +?�ी �O  0O,? 
 

Q33. Which of the following is a source of income of Gram Panchayat? 
 

A. Income Tax B. Sales Tax 

C. Toll Tax D. Professional Tax 

Q33. �0/O AO �L0, ्䵇?/ +@??0, �ी �0 �? ए� }K, BP? 
 

A. �0�1 B. }-्䵅I �1 

C. +- �1 D. =}ृि �1 
 

Q34. Gurugram derived its name from______________. 
 

A. Guru Govind Singh B. Guru Teg Bahadur 

C. Guru Dronacharya D. Guru Amardas 

Q34. �Jy्䵇?/ �? 0?/ ______________ �O  0?/ +1 1�? �0? BP। 
 

A. �Iy �K}=?. म@?A B. �Iy ,O� -A?.I1 

C. �Iy ्䵖K+?च?0� D. �Iy 
/1.?@ 

 

Q35. Baisakhi is celebrated on harvesting of which crop in Haryana? 
 

A. Nakdi crop B. Rabi crop 

C. Kharif crop D. Zaid crop 

Q35. Bर10?+? /O }�A ,Aल �ी ��?� +1 -PA?�I /0?� �?,I BP? 
 

A. 0�.I ,@ल B. 1-I ,@ल 

C. �1I, ,@ल D. ज़?0. ,@ल 
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Q36. Which one of the following printers use light-emitting diodes rather than a laser to 
produce an image on the drum? 

 

A. Inkjet B. LED 

C. Thermal printer D. Dye-sublimation 

Q36. }0o0}ल}�, /O AO �L0 A? }�@�1 ्䵑/ +1 �}? -0?0O �O  }लए लO�1 �O  -�?0 ��?? �mA�/� रき?0Kरき �? �+0K� �1,? BP? 
 

A. �?��O� B. �ल�!I (LED) 

C. -/�ल }�?�1 D. !?�-@�लल/O>0 

 

Q37. Centre of Excellence to promote horticulture would be set up in all districts of Haryana 
with cooperation of _________. 

 

A. New Zealand B. Australia 

C. Japan D. Israel 

Q37. _________ �O  AB0K� AO Bर10?+? �O  A.I }�लो䬂 /O -?�??0I �K -+??? .O0O �O  }लए �m�L ि,? �O � }-?}+, }�0? �?ए�?। 
 

A. m0�ूIलै䠂! B. �}्䵏Oमल0? 

C. �?+?0 D. ��1?�ल 

 

Q38. Mansa Devi fair in Haryana is held in which months? 
 

A. May-June and September-October B. March-April and September-October 

C. February-March and December-January D. May -June and December-January 

Q38. Bर10?+? /O /0A? .O?I /Oल? }�A /BI0O /O ल�,? BP? 
 

A. /�-�ू0 �1 म@,?-1-
]�ू-1 B. /?च�-
�Pल �1 म@,?-1-
]�ू-1 

C. ,1=1I-/?च� �1 9.@?-1-�0=1I D. /�-�ू0 �1 9.@?-1-�0=1I 
 

Q39. One Megabyte =____________. 
 

A. 1024 bits B. 1024 bytes 

C. 1024 kilobytes D. 1024 kilobits 
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Q39. ए� /O�?-?�� = ____________| 
 

A. 1024 }-टὍ@ B. 1024 -?�टὍ@ 

C. 1024 ��लK-?�� D. 1024 ��लK}-टὍ@ 

 

Q40. Pick the odd one out. 
February, August, November, December 

 

A. February B. November 

C. December D. August 

Q40. 
A@�, �? ?00 �1O। 
,1?1I, 
�},, 0?@-1, }.A@-1 

 

A. ,1=1I B. 0=?-1 

C. 9.@?-1 D. 
�}, 

 

Q41. FD: SQ :: IG : ? 
 

A. XP B. VT 

C. PS D. ZW 

Q41. FD: SQ :: IG : ? 
 

A. XP B. VT 

C. PS D. ZW 

 

Q42. Look at this series: 4, 9, 17, 35, ___. 
What number should come next? 

 

A. 69 B. 64 

C. 70 D. 65 

Q42. �A ्䵦L@�ल? �K .O�O: 4, 9, 17, 35,__. 

�्䵞 }?न⡍B �O  }-?0 +1 �L0 AI A@_0? BK0I ??}Bए? 
 

A. 69 B. 64 

C. 70 D. 65 

www.mseducationtv.com



 

Adv. No. 12/2019, Cat No. 23, Electrician Instructor (Theory), 

SKIL DEVELOPMENT AND INDUSTRIAL TRAINING DEPARTMENT, HARYANA 

Afternoon Session 
 

December 12, 2019  Page 12 of 25 

 

 

Q43. In a certain coding system, if PLANE is called as TRAIN, TRAIN is called as CAR, CAR 
is called as an AUTO, AUTO is called as BICYCLE, then the vehicle that has three 
wheels is: 

 

A. PLANE B. TRAIN 

C. CAR D. BICYCLE 

Q43. ए� �Kरき .?@? /O, 0}. 8MलO09 �K 8रO09, 8रO09 �K 8�?19, 8�?19 �K 8ऑ�K9, 8ऑ�K9 �K 8A?�}�ल9 �B? �?,? BP, ,K ,I0 +}B0ो䬂 
??लI �?\I �K ]0? �B? �?ए�?? 

 

A. oलO0 B. ्䵏O0 

C. �?1 D. @?���ल 

 

Q44. 
 

 

A. 49 B. 121 

C. 39 D. 59 

Q44. 
 

 

A. 49 B. 121 

C. 39 D. 59 

 

Q45. (2.5)3 = ? 
 

A. 12.605 B. 25.650 

C. 18.675 D. 15.625 

Q45. (2.5)3 = ? 
 

A. 12.605 B. 25.650 

C. 18.675 D. 15.625 

 

Q46. 20% of 80 = ? 
 

A. 16 B. 24 

C. 17 D. 28 
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Q46. 80 �? 20%=? 
 

A. 16 B. 24 

C. 17 D. 28 

 

Q47. Raju sold a cow for Rs.16000 at a loss of 20%. At what price should he have sold it to 
gain 20%? 

 

A. Rs. 24800 B. Rs. 16000 

C. Rs. 19200 D. Rs. 18600 

Q47. 1?�K 0O ए� �?0 �K 20% �O  0J�A?0 +1 16000 y+0O /O -O? }.0?। �A �?0 �K }�,0O /O -O?0O +1 �AO 20% �? ल?. BI� BK,?? 
 

A. 24800 y+0O B. 16000 y+0O 

C. 19200 y+0O D. 18600 y+0O 
 

Q48. Which device is used for measuring potential difference across two points in a circuit? 
 

A. Ammeter B. Analog meter 

C. Voltmeter D. Potentiometer 

Q48. ए� A}�/ � /O .K +Q�@�MA �O  }?.??@,1 �K /?+0O �O  }लए }�A �+�1+ �? �},O/?ल }�0? �?,? BP? 
 

A. �//I�1 B. �0?लI� /I�1 

C. =Kल㉍�/I�1 D. +K�े䜂म>0K/I�1 
 

Q49. What is the pH value of a neutral solution? 
 

A. 0 B. 7 

C. 3 D. 9 

Q49. ए� �.?AI0  Kल �? +Iए? (pH) /?0 }�,0? BK,? BP? 
 

A. 0 B. 7 

C. 3 D. 9 
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Q50. What is myopia? 
 

A. A condition in which distant objects appear 

blurred. 

B. Lack of coordination between the eyes. 

C. Distorted vision at all distances. D. An imbalance in the positioning of the two 

eyes. 

Q50. /?0K}+0? ]0? BP? 
 

A. �� �@I 
=}-? ��@/े䜂 .1ू �I चI�े䜂 /I?/लI 9.�?� .O,I Aै䠂। B. �	�ो䬂 �O  -Iच @/m=0 �? 
.?=। 

C. @.I .1ूI +1 }=�ृ, द♃���। D. .K �	�ो䬂 �I �}-), /े䜂 
@?,Iल0। 
 

Q51. If the width of forbidden gap between valence and conduction band is very large, then the 
material is ______________. 

 

A. Conductor B. Insulator 

C. Semi-conductor D. Solid 

Q51. 0}. ?PलOA �1 �@ रき]�?0 -ै䠂रき �O  -I? }0}@्䵍 
@,1?ल �ी ?L\?� -BI, जᱍ0?.? BP, ,K +र1+?/I +.?-/ ______________ BP। 
 

A. �? !]�1 B. �?@IलO�1 

C. @O/I-�? !]�1 D.  K@ 

 

Q52. Which of the following is a donor impurity element to form a N type semiconductor? 
 

A. Boron B. Aluminum 

C. Phosphorous D. Gallium 

Q52. N ��?1 �? 
//??ल� -0?0O �O  }लए, }0o0}ल}�, /O AO �L0 A? ए� ��?1 �? रきK01 
+}/्䵦+ ,m? BP? 
 

A. -K1?0 B. �ल㉍0I/I)00/ 

C. ,K},K1@ D. �Pमल0/ 

 

Q53. The relation between Magnetic Field Intensity and Magnetic Flux Density is ________. 
 

A. B = H B. H = B 

C.  = BH D. HB = 1 
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Q53. ?Jo-�ी0 �O} �ी ,I},? �1 ?J@-�ी0 oल]A �O   0m? �O  -I? �? A@-@/ _______ BP| 
 

A. B = H B. H = B 

C.  = BH D. HB = 1 

 

Q54. If Input and Output junctions of a transistor are forward biased, then the region of 
operation is __________. 

 

A. active B. saturated 

C. cut off D. inverted 

Q54. 0}. ए� र?@}�}�1 �O  �0+J� ए?@ ���+J� �@]?0 ,Q1?रき/ -?0}रき Bै䠂, ,K A@??ल0 �? �O} __________ BK,? BP| 
 

A. @�्䵅0 B. @OचI1O>0 

C. 
?,� D. �0=�े! 
 

Q55. The point where DC load line and forward characteristic intersect is: 
 

A. Origin Point B. Quiescent Point 

C. X intersect Point D. Y intersect Point 

Q55. ?B }-@.J �B?? +1 DC लKरき ल?�0 �1 ,Q1?रき/ }?ल�+,? �},चᩍ�O.0 �1,O BP: 
 

A. �द♍�/ }-?.I B. �}-1 }-?.I 

C. X �?�1@O]� }-?.I D. Y �?�1@O]� }-?.I 
 

Q56. The centre tap transformer is used in: 
 

A. Quarter Wave Rectifier B. Half Wave Rectifier 

C. Full Wave Rectifier D. Bridge Rectifier 

Q56. AO�1 �P+ र?@A,?//1 �? �0K� ___________ /O }�0? �?,? BP| 
 

A. च,I-?ा㸂> ,1?� 9.���?1I B. A?, ,1?� 9.���?1I 

C. ,I ल ,1?� 9.���?1I D. }?� 9.���?1I 
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Q57. If a forward current of PN junction diode is 70mA then the value of dynamic resistance is 
_______. 

 

A. 0.37  B. 0.67  

C. 0.07  D. 370  

Q57. 0}. PN �@]?0 रき?0Kरき �? ,Q1?रき/ �1@� 70mA BP, ,K �},?Iल �},1K/ �? /?0 _______ BK�?| 
 

A. 0.37  B. 0.67  

C. 0.07  D. 370  

 

Q58. The important advantage of FET over BJT is: 
 

A. very High Input Resistance B. very Low Input Resistance 

C. very High Input Current D. zero input Resistance 

Q58. BJT +1 FET �? /Bm?+K+/ ल?. BP: 
 

A. -AI, �चᩍच �0+I� �),1K/ +1 B. -AI, �/ �0+I� �),1K/ +1 

C. -AI, �चᩍच �0+I� �1?� +1 D. >mू0 �0+I� �),1K/ +1 
 

Q59. What is the current gain of Common Collector configuration? 
 

A.  B.  

C.  D.  

Q59. �Q/0 �लO]�1 �Q}न⡍?�1O?0 �? �1@� ल?. ]0? BP ? 
 

A.  B.  

C.  D.  
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Q60. What is the binary equivalent of decimal 14? 
 

A. 1400 B. 1110 

C. 0014 D. 1101 

Q60. .?/ल? 14 �O  A/�� -?�01I ]0? BP? 
 

A. 1400 B. 1110 

C. 0014 D. 1101 

 

Q61. What is the octal equivalent of decimal 175? 
 

A. 251 B. 257 

C. 267 D. 261 

Q61. .?/ल? 175 �O  
ि� �O  A/�� ]0? BP? 
 

A. 251 B. 257 

C. 267 D. 261 

 

Q62. What is the ASCII equivalent of letter 'A'? 
 

A. 01000001 B. 01111111 

C. 00000001 D. 01001001 

Q62. 'A' 
�1 �O  -1?-1 ASCII ]0? BP? 
 

A. 01000001 B. 01111111 

C. 00000001 D. 01001001 

 

Q63. In a transformer which of the following does not change? 
 

A. Voltage B. Current 

C. Frequency D. Power 

Q63. ए� र?@A,?//1 /O }0o0}ल}�, /O AO }�A/O -.ल?? 0Bी䀂 BK,? BP? 
 

A. =Kल㉍�O� /े䜂 B. �1?� /े䜂 

C. �I]=े䜂@I /े䜂 D. +I=1 /े䜂 
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Q64. What is the emf equation of a transformer? 
 

A.  B.  

C.  
D.  

Q64. र?@A,?//1 �? emf A/I�1+ ]0? BP? 
 

A.  B.  

C.  
D.  

 

Q65. A transformer on no load has an induced emf of 230V(rms), draws a current of 2A(rms) 
and having angle between them is 83.76o then the value of core loss is _______. 

 

A. 150W B. 100W 

C. 50W D. 200W 

Q65. }-0? लKरき ??लO ए� र?@A,?//1 /O �Oर1, emf 230V (rms) BP, �K 2A(rms) �? �1@� �ी䀂?,? BP �1 �0�O  -I? �? �K+ 

83.76o BP, ,- �K1 B?}0 �? /?0 _______ BK,? BP| 
 

A. 150W B. 100W 

C. 50W D. 200W 

 

Q66. An Ideal Op-amp has: 
 

A. Infinite Av B. Zero Ri 

C. Infinite R0 D. Zero Av 

Q66. ए� �.?/ A@}ि0?m/� �?//� BP: 
 

A. 
0?, Av B. >mू0 Ri 

C. 
0?, R0 D. >mू0 Av 
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Q67. An inverting amplifier has Rf = 2M  and R1 = 2K . Its Scale factor is ________. 
 

A. 1000 B. -1000 

C. 10-3 D. -10-3 

Q67. ए� �0?}�?� एo+लI,?01 �? Rf = 2M  �1 R1 = 2K  BP| �A�? }�O ल ,P ]�1 ________ BP| 
 

A. 1000 B. -1000 

C. 10-3 D. -10-3 

 

Q68. If dc = 0.98 then dc is _____. 
 

A. 0.49 B. 49 

C. 0.59 D. 59 

Q68. 0}. dc = 0.98 ,K dc ______BK,? BP| 
 

A. 0.49 B. 49 

C. 0.59 D. 59 

 

Q69. What is the speed of an induction motor when slip is 100%? 
 

A. Zero B. Full load speed 

C. Half load Speed D. Quarter load speed 

Q69. }}ल+ �O  100% BK0O +1 �@रき]?0 /K�1 �ी �}, }�,0I BK,I BP? 
 

A. >mू0 B. ,I ल लK! }+I! 

C. A?, लK! }+I! D. ]=?��1 लK! }+I! 
 

Q70. The speed of an induction motor will be same as synchronous speed when slip is: 
 

A. Infinite B. Unity 

C. Half D. Zero 
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Q70. �@रき]?0 /K�1 �ी �}, A/�?}ल� �}, �O  A/?0 BK�I, �- }}ल+______ BK�I| 
 

A. 
0?, B. 0)ू0�I 

C. �/? D. >mू0 

 

Q71. In which motor, stator and rotor fields rotate simultaneously? 
 

A. DC series motor B. Universal motor 

C. Slip ring induction motor D. Synchronous motor 

Q71. }�A /K�1 /O, }�O�1 �1 1K�1 �O} ए� A?-  K+/0 �1,O Bै䠂? 
 

A. DC @I1I� /K�1 B. 0)ू0=@�ल /K�1 

C. �}ल+ 91?� �?!]>0 /K�1 D. म@?्䵅K0@ /K�1 
 

Q72. SCR means ________________. 
 

A. Silicon Controlled Rectifiers B. Short Controlled Rectifiers 

C. Switch Controlled Rectifiers D. Static Controlled Rectifiers 

Q72. SCR �? /,ल- ________________ BP| 
 

A. म@मल�I0 �? ्䵏Kल㉍! 1O]�I,?01@� B. >?�� �? ्䵏Kल㉍! 1O]�I,?01@� 

C. �}=च �? ्䵏Kल㉍! 1O]�I,?01@� D. }�P9�� �? ्䵏Kल㉍! 1O]�I,?01@� 
 

Q73. The minimum anode current to maintain the thyristor in on state is __________. 
 

A. Holding Current B. Latching Current 

C. Reverse Current D. Reserve Current 

Q73. -Pर1}�1 �K ए� 
?}-? /O -0?0O 1�0O �O  }लए न⡍0K0,/ ए0Kरき �1@� __________ BP| 
 

A. AK�ल㉍!?� �1?� B. लP�च?� �1?� 

C. 91=@� �1?� D. 91ज़=� �1?� 
 
 

www.mseducationtv.com



 

Adv. No. 12/2019, Cat No. 23, Electrician Instructor (Theory), 

SKIL DEVELOPMENT AND INDUSTRIAL TRAINING DEPARTMENT, HARYANA 

Afternoon Session 
 

December 12, 2019  Page 21 of 25 

 

Q74. The three terminals of an SCR are _____________. 
 

A. Gate, Source and Drain B. Emitter, Base and Collector 

C. Anode, Cathode and Gate D. Anode, Drain and Gate 

Q74. SCR �O  ,I0 �}//0ल _____________ BP| 
 

A. �O�, @K@� �1 ्䵑O0 B. �म/�1, -O@ �1 �लO]�1 

C. �0K!, �P -K! �1 �O� D. �0K!, ्䵑O0 �1 �O� 
 

Q75. If the forward anode current of a thyristor is reduced below its holding current then the 
thyristor remains in _____________. 

 

A. ON state B. OFF State 

C. Blocking State D. Reverse State 

Q75. 0}. -Pर1}�1 �O  ,Q1?रき/ ए0Kरき �1@� �K �A�O  BK}्रき@� �1@� AO �/ �1 }.0? �?0O, ,K -Pर1}�1________
?}-? /O 1BO�?| 
 

A. �0 }�O� B. �, }�O� 

C. ललI��? � }�O� D. 91=@� }�O� 
 

Q76. TDMA is ___________________. 
 

A. Time Division Multiple Access B. Total Division Multiple Access 

C. Time Doing Multiple Access D. Time Division Moving Access 

Q76. TDMA �? /,ल- _______________________BP| 
 

A. �?�/ )!=Iज़0 /�ल㉍�+ल �]@O@ B. �K�ल )!=Iज़0 /ल㉍�Ioल �]@O@ 

C. �?�/ !ू�?� /�ल㉍�+ल �]@O@ D. �?�/ )!=Iज़0 /}ू=?� �]@O@ 

 

Q77. The sequence of operation in Pulse Code Modulation is ______________. 
 

A. Sampling, Quantizing and Encoding B. Sampling, Encoding and Quantizing 

C. Quantizing, Sampling and Encoding D. Sampling, Quantizing and Decoding 
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Q77. +्A �Kरき /Qरき0Kल0 /O A@??ल0 �? ि/ _________ BP| 
 

A. @ै䠂+मल?�, ]=??�?��ज़?� �1 �0�K)! ?� B. @ै䠂+मल?�, �0�K)! ?� �1 ]=??�?��ज़?� 

C. ]=??�?��ज़?� , @ै䠂+मल?� �1 �0�K)! ?� D. @ै䠂+मल?�, ]=??�?��ज़?� �1 )!�K)! ?� 

 

Q78. The Maximum Bandwidth is occupied by _________. 
 

A. ASK B. BPSK 

C. FSK D. BSK 

Q78. }0o0}ल}�, }?�्+ो䬂 /O 
}/�,/ -ै䠂रき}?रきM- _________ 
}/�L , �1,? BP| 
 

A. ASK B. BPSK 

C. FSK D. BSK 

 

Q79. If the positive half interval pulse is followed by a negative half interval pulse for 
transmission of '1' then the format is _________________. 

 

A. Polar NRZ format B. Bipolar NRZ format 

C. Manchester format D. Polar RZ format 

Q79. 0}. ए� A�?1?m/� B?, �@�?/ल +्A �? 
0J�/0 ए� 0�?1?m/� B?, �@�?/ल +्A ्䵛?1? A@?1+ '1' �O  }लए }�0? �?,? BP, ,K �A�? 
________________ �?z+ BK�?| 

 

A. +Kल1 NRZ ,?/े� B. -?�+Kल1 NRZ ,?/े� 

C. /O0चO}�1 ,?/े� D. +Kल1 RZ ,?/े� 
 

Q80. The Solid angle suspended by the sphere at its center is _____________. 
 

A.  Steradians B. 2  Steradians 

C. 3  Steradians D. 4  Steradians 

Q80. }�AI �KलO ्䵛?1? �A�O  �O � /O }0ल@}-, }�0O �ए  KA �K+ �? /?0 _________ BK,? BP| 
 

A.  }�O1O)!00 B. 2  }�O1O)!00 

C. 3  }�O1O)!00 D. 4  }�O1O)!00 
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Q81. The number of lumens emitted by the source per unit solid angle is ____________. 
 

A. Lumen B. Candle Power 

C. Luminous Intensity D. Brightness 

Q81. }�AI  KA �K+ }K, ्䵛?1? �}, ��?� �mA}�/, लJ/O0 �ी A@_0? ________BK,I BP| 
 

A. लI/O0 B. �ै䠂 !ल +I=1 

C. लमू/0@ �?�े䜂म@�I D. ??��0O@ 

 

Q82. Determine the distance for a 25 c.p lamp from a normally placed screen in order that the 
illumination shall be 5 lux. 

 

A. 2M B. 2.24M 

C. 3.5M D. 4.2M 

Q82. ए� A?/?न⡍0 z+ AO 1�I �� }िी0 AO 25 c.p लै䠂+ �O  }लए .K1I �? }0/?/1+ �ी}�0O }�AAO �ी �.I+0 5 lux BK| 
 

A. 2M B. 2.24M 

C. 3.5M D. 4.2M 

 

Q83. PLC can be abbreviated as _____________. 
 

A. Programmable Logic Controller B. Position Load Control 

C. Pneumatic Load Capstan D. Pressure Load Chamber 

Q83. PLC �K____________ �O  z+ /O A@}�्䵎 }�0? �? A�,? BP। 
 

A. �K्䵇?/O-ल लI��� �? ्䵏Kल1 B. +K�I>0 लK! �? ्䵏Kल 

C. m0ू/O9�� लK! �P o@�0 D. �O>1 लK! चPम⹍-1 
 

Q84. The primary requirements for ladder logic programming are : 
 

A. JAVA codes B. JSP codes 

C. Virtual relay contacts and coils D. J2EE codes 
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Q84. लPरき1 लQ}�� �K्䵇?}/@� �O  }लए �?-}/� �?�0�,?ए@ BP: 
 

A. JAVA �Kड⅍@ B. JSP �Kड⅍@ 

C. =चI�
ल 91लO �??�O]� �1 �I�ल㉍@ D. J2EE �Kड⅍@ 

 

Q85. Total Internal reflection can take place when light travels from ________________. 
 

A. Air to Glass B. Glass to Air 

C. Rarer to denser medium D. Denser to rarer medium 

Q85. �J ल �@,र1� �},}-@- ,- BK A�,? BP, �- ��?? __________ /O 0?}? �1,? BP| 
 

A. =?0I @O �??च B. �??च @O =?0I 

C. }=1ल @O @ 0 /?o0/ D. @ 0 @O }=1ल /?o0/ 

 

Q86. If numerical aperture of an optical fiber is 0.3 then the acceptance angle is ______. 
 

A. 1.77o B. 17.7o 

C. 0.177o D. 177o 

Q86. 0}. }�AI ऑ}M��ल ,?�-1 �? A@_0?m/� 
+?/1 0.3 BP, ,K �A�? }?I�L }, �K+ ____________ BK�?| 
 

A. 1.77o B. 17.7o 

C. 0.177o D. 177o 

 

Q87. In an optic fiber the propagation angle of light must be equal to or less than the 
___________ angle. 

 

A. Acceptance B. Critical 

C. Incident D. Refraction 

Q87. ए� ऑ}M�� ,?�-1 /O ��?? �? �A?1 �K+ ___________ �K+ �O  -1?-1 0? �AAO �/ BK0? ??}Bए। 
 

A. }=I�ृ), B. ्䵅??),� 

C. �?म@!े䜂� D. 
+=,�0 
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Q88. In an optical fiber refractive index of cladding material is __________ than that of the 
fiber core material. 

 

A. greater B. less 

C. equal D. twice 

Q88. ]लP}रき@� /�Oर10ल �O  ए� ऑ}M��ल ,?�-1 �? 
+?,/� AK?�?@�, ,?�-1 �K1 A?/्䵇I �ी ,Jल0? /O __________ BK,? BP| 
 

A. /Aि1 B. m0ू0 

C. -1?-1 D. .I�0? 
 

Q89. If the angle of incident is zero degree then percentage of power loss when light travels 
from air (n = 1) and water (n=1.33) is ______. 

 

A. 3% B. 2% 

C. 4% D. 5% 

Q89. �- ��?? ??0J (n = 1) �1 +?0I (n = 1.33) AO 0?}? �1,? BP �1 0}. �+,0 �K+ ?Jन⡍0 }रき्䵇I BP, ,K }-�लI �ी B?}0 �? 
�},?, _________ BK,? BP| 

 

A. 3% B. 2% 

C. 4% D. 5% 

 

Q90. In a step index fiber, core index n1 = 1.45 and cladding index n2 = 1.41 then the numerical 
aperture is _______. 

 

A. 0.338 B. 0.438 

C. 0.538 D. 0.2 

Q90. ए� }�O+ �@रきO]A ,?�-1 /O, �K1 �@रきO]A n1 = 1.45 �1 ]लP}रき@� �@रきO]A n2 = 1.41, ,K A@_0?m/� 
+?/1 __________ BK,? 
BP| 

 

A. 0.338 B. 0.438 

C. 0.538 D. 0.2 
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